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General Awareness

Who’s Chairman of Railways — Ashwani Lohani
When was Swachh Bharat Abhiyan initiated?- 2nd October 2014

Name the Indian bank which has the maximum number of branches in
India? — SBI Bank

Which dam is situated on the banks of Krishna River? — Nagarjuna Sagar
Dam

Where was the 2018 Bimstec Summit 2018 held?- Nepal

In which State 1s ‘Adhai Din Ka Jhonpra® Mosque 1s situated? — Ajmer,
Rajasthan

When was Magna- Carta system started in India?-1215

Which river is situated in the Panjim city?- Mandovi

Who is the chairperson of FTII? — Anupam Kher

In 2017, who received the Moortidevi Award? — Joy Goswami

Indian Cricket Team coach in 2017 — Ravi Shastri

What connects muscles to the bone? — Tendon

What is the Formula for Sodium Carbonate- Na2CO3

Which instrument is used to measure blood pressure? —
Sphygmomanometer

Chemical reaction for Nacl + H20= NaoH +Hcl
Alkali elements come in which group? — Group 1 of the periodic table
Periodic table — 3Qs




Respiratory system — 1Q
Numerical type question based on work done- 1Q
In which state PM Modi has inaugurated a Shiv Temple? — Abu Dhabi

Math

Data Interpretation

Bar graph — 1Q

Table — 1Q

Time & work-based —3Q

Pipes cistern — 1Q

Pipe A can fill the whole tank in 25 mins, pipe B in 30 mins, and pipe C
empties 3 gallons/min. Together if they will fill the tank in 15 mins. What
1s the tank’s capacity?

Simplification — 3-4Qs

Square Root — 1Q

Mensuration — 2Q

Rhombus one side was given and the area is also given. You need to find
the sum of lengths of diagonals.

1224372 —3/1116*372 7 — 493

If the present age ratio of A & B is 1: 2, 5 years ago the ratio was 1:3, what
will be the age ratio 5 years henceforth?- 3:5

LCM of 37,111,148 =444

SinA = CosA then, 2sin2A — 3Co0s2A = - 0.5

72 % of x =90? — 125

2/3rd of Pizza cost — 45 Rs, then 3/5th of Pizza is?

In classroom total students are 45, if 3/5th of the total students are boys,
then find the number of boys?

Profit and loss — 2Qs




Average based — 2Qs
HCF - 1Q
Speed,Distance & Time
Trigonometry

Time & Work
Trigonometry

Percentage
Algebra

Reasoning

Conclusions based 2-3Qs

Age-Based -1Q

Mirror Image Based - 1Q

If 22nd March is Monday, then which day would be 5th May? -
Tuesday

Angle Based question — On 450, what degree angle will be
made?

Clock-Based - 2Q

Syllogism — 1Q

Water image based - 1Q

X and Y are walking in the opposite direction if the Y's shadow is
on X when they meet. Then X faces which direction?
Image-based - 3Qs

Images where given, and choose the fourth image.

Data Sufficiency - 2Qs

Coding & Decoding- 1Q

Number of Triangles - 1Q

Missing letter — 1Q




Alphabet series — 2Q

Conclusions based 2-3Qs

Age-Based -1Q

Mirror Image Based - 1Q

If 22nd March is Monday, then which day would be 5th May? -
Tuesday

Angle Based question — On 450, what degree angle will be
made?

Clock-Based - 2Q

Syllogism — 1Q

Water image based - 1Q

X and Y are walking in the opposite direction if the Y's shadow is
on X when they meet. Then X faces which direction?
Image-based - 3Qs

Images where given, and choose the fourth image.

Data Sufficiency - 2Qs

Coding & Decoding- 1Q

Number of Triangles — 1Q

Missing letter — 1Q

Alphabet series — 2Q

Counting of Triangles

Miscellaneous One Question on Syllogism.
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